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These are the questions for the Missouri State High School Activities Association’s State Academic Competition. They are written by the Scholastic Bowl Company of Virginia, Inc. 

Users of these questions are subject to terms and conditions of the Missouri State High School Activities Association. 
First period: 15 tossups
TOSSUP 1
LANGUAGE ARTS-Foreign language

What letter is the ending of second declension Latin nouns in the dative and ablative cases, and is the most common ending for Spanish nouns whose gender is masculine?

ANSWER: o
TOSSUP 2
SCIENCE-Biology

Their size peaks at puberty and removal methods include harmonic scalpel, microdebrider, and dissection and snare.  Parts of them include palatine, lingual, and adenoids.  Name these areas of lymphoid tissue in the throat that are often removed.

ANSWER:
tonsil(s)

TOSSUP 3
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  If we double the Roman numeral represented by DCLIX, what is the new Roman numeral?


ANSWER:  MCCCXVIII

TOSSUP 4
LITERATURE-US literature

Victor Hugo called him the American Walter Scott. Mark Twain wrote an essay about his literary offenses. The Ways of the Hour was his last novel and Precaution his first. What writer’s Leatherstocking Tales includes The Last of the Mohicans? 

ANSWER: James Fenimore Cooper
TOSSUP 5
SCIENCE-Physics

Quantum chromodynamics describes how it works.  It is carried by vector gauge bosons called gluons, and acts on a very short range upon quarks, antiquarks, and gluons themselves.  Name this most powerful of the four fundamental forces.

ANSWER:
strong nuclear force

TOSSUP 6
FINE ARTS-Classical music

Anton Schindler destroyed most of his conversation books. He would play the piano by biting on a rod that was attached to the piano’s sound board. He suffered from abdominal pain from lead poisoning. Who was this composer of nine symphonies and one opera? 

ANSWER: Ludwig van Beethoven 

TOSSUP 7
SOCIAL STUDIES-World history

He married Germaine de Foix in 1505 after the death of his more famous wife. His daughter, Joanna the Mad, had a son that became Charles V. Also the king of Sicily, Naples, Sardinia, and Navarre, who was the husband of Castile’s queen, Isabella? 

ANSWER: Ferdinand of Aragon or Ferdinand II
TOSSUP 8
MATH-Algebra

THIS IS A COMPUTATION QUESTION.   Solve this logarithmic equation for X:  The log base X of 1/2 equals ¼.


ANSWER:  X = 1/16
TOSSUP 9
LITERATURE-World literature

Umbriel goes to the Cave of Spleen and gets some sighs and tears, and the warnings of Ariel are ignored. Clarissa lent the Baron a pair of scissors, enabling the Baron to commit the titular crime. Belinda has an unwanted haircut in what mock-epic by Alexander Pope?  

ANSWER: The Rape of the Lock
TOSSUP 10
SOCIAL STUDIES-US history

He sent federal troops into Utah to assert federal authority and remove Brigham Young. Although he opposed Stephen Douglas, he did not support his Vice-President, John Breckinridge. The Union fell apart under what President who served from 1857 to 1861? 

ANSWER: James Buchanan
TOSSUP 11
LITERATURE-World literature

This story’s earliest versions had the title character aware of the test, which involved a special bed made with twenty mattresses and twenty featherbeds. In what Andersen fairy tale is the title character’s sleep ruined by the title legume? 

ANSWER: ‘The Princess and the Pea’

TOSSUP 12
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  Give your answer as a fraction. Convert the decimal .875 to a fraction, and then find the value of that fraction if it is raised to the negative two power. 


ANSWER:  64/49  or  1 15/49
TOSSUP 13
MISCELLANEOUS-Agriculture

In 2007, the presence of food colorings and gelatin would not bar this certification. Small-scale farmers use the ‘Naturally Grown’ label to mean the same thing as this USDA certification. What label is given to food that is free of synthetic chemicals? 

ANSWER: (certified) organic
TOSSUP 14
SCIENCE-Biology

Types of them include platypelloid, anthropoid, android, and gynaecoid.  Its parts include the obturator foramen, acetabulum, and pubic arch.  Name this bone structure that consists of the ilium, ischium, and pubis located at the hips.

ANSWER:
pelvis
TOSSUP 15
SOCIAL STUDIES-World history

This war included the battles of Kesselsdorf and Fontenoy. The province of Silesia switched hands after it was ended by the Treaty of Aix-la-Chapelle. What war started when Frederick the Great invaded the country ruled by Maria Theresa? 

ANSWER: War of the Austrian Succession 

Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
SOCIAL STUDIES-Economics

Established by the 1992 Maastricht Treaty, it appeared in computer records in 1999, and the first bills and coins appeared in 2002. It was adopted in Greece in 2001, Slovenia in 2007, and in Cyprus and Malta in 2008. What is this unit of currency worth about $1.55? 

ANSWER: the euro
BONUS 16
LITERATURE-Religion

Name the Apostle from clues.

1.
He insisted on seeing the wounds in the resurrected Christ’s hands.


ANSWER: (Doubting) Thomas
2.
Who replaced Judas among the Twelve?


ANSWER: Matthias
3.
Who was the tax collector?


ANSWER: Matthew
4.
What was the common name shared by a son of Zebedee and a son of Alphaeus?


ANSWER: James
TOSSUP 17
MATH-Geometry

THIS IS A COMPUTATION QUESTION.  In right triangle ABC the tangent of angle A is 5X over 3.  Find the secant of angle A by first finding the hypotenuse.  


ANSWER:  the square root of the quantity (9 + 25X2) /3
BONUS 17
SOCIAL STUDIES-US history

Answer these questions about muckrakers. 

1.
Who originated the term ‘muckraker’ and did not mean it as a compliment, despite his agreement with most of the muckrakers’ goals?


ANSWER: Theodore Roosevelt
2.
What photographer published How the Other Half Lives? 

ANSWER: Jacob Riis 

3.
Who wrote Unsafe at Any Speed? 

ANSWER: Ralph Nader
4.
In 1904, Ida Tarbell wrote a scathing history of what company?


ANSWER: Standard Oil
TOSSUP 18
LITERATURE-US literature

Subtitled The Saga of an American Family, its author acknowledged lifting much of it from Harold Courlander’s The African. Its claim that the author was descended from a man named Kunta Kinte, has also been questioned. What is this novel by Alex Haley? 

ANSWER: Roots
BONUS 18
MATH-Algebra

THIS IS A COMPUTATION QUESTION.  Consider the following two by two matrices all of which are given by row one and then row two:  matrix A is 3, 5, 4, 12; matrix B is 4, 1, 2, 1;  matrix C is 1, 0, 0, 1;  matrix D is 5, 2, 7, 3.  Now:

1.  
What is the sum of matrix A and matrix B?


ANSWER:  the matrix 7, 6, 6, 13
2.  
What is the product of matrix A times matrix B?


ANSWER:  the matrix 22, 8, 40, 16
3.  
Let matrix E be the inverse of matrix D.  Find matrix E.


ANSWER:  matrix 3, -2, -7, 5
4.  
What is the product of matrices B, C, D, and E?


ANSWER:  matrix B    or  4, 1, 2, 1  (since C is the identity matrix and D times E also equals C, the answer would just be matrix B)

TOSSUP 19
SCIENCE-Famous scientists

His November 1895 experiments used a barium platinocyanide screen, Crookes tubes, and his wife’s hand.  Element 111 is named after him.  Name this German who in 1901 won the first Nobel Prize in Physics for his discovery of X-rays.

ANSWER:
Wilhelm Roentgen
BONUS 19
MISCELLANEOUS-Pop culture

Answer these questions about TV spin-offs. 

1.
Addison Montgomery is the central character in what spin-off from Grey’s Anatomy? 


ANSWER: Private Practice
2.
Xena: Warrior Princess was spun off from what show about a Greek hero?


ANSWER: Hercules: The Legendary Journeys
3.
The show Angel was a spin-off from what other show?


ANSWER: Buffy the Vampire Slayer
4.
Who portrayed the title character in the Cheers spin-off, Frasier? 


ANSWER: Kelsey Grammer
TOSSUP 20
LITERATURE-Religion

Sikhs believe it creates a field called a khet around a person. Hindus divide this into three types: fruit-bearing, current, and accumulated. Buddhism distinguishes it from vipaka, which is the effect. What is this concept of cause and effect in South Asian religion? 

ANSWER: karma
BONUS 20
SCIENCE-Biology

Name the following trees.

1.
Consisting of the genus Quercus, this tree’s fruits are known as acorns.

ANSWER:
oak
2.
This tree of genus Acer has its leaf on the Canadian flag.

ANSWER:
maple
3.
This tree whose scientific name is Cornus florida is the state tree of Missouri.

ANSWER:
flowering dogwood
4.
Consisting of the genus Salix, its weeping variety is a hybrid of its Peking and white species.

ANSWER:
willow
TOSSUP 21
MATH-Algebra

THIS IS A COMPUTATION QUESTION.  There are four answers to the question, “What is the fourth root of one?” Find all four answers, two of which are imaginary.


ANSWER:  1, -1, i, -i
BONUS 21
SOCIAL STUDIES

Identify the English kings from clues. 

1.
Who ruled England between 1042 and 1066 and was noted for his piety?


ANSWER: (Saint) Edward the Confessor
2.
This king spent too much time in the company of Piers Gaveston and not enough time with his wife, who effectively overthrew him in 1326. 


ANSWER: Edward II
3.
Before his 1035 death, he proclaimed himself ‘king of all England and Denmark and the Norwegians and of some of the Swedes,’ but not ‘lord of the tides.’


ANSWER: Canute
4.
He was the first King of the Anglo-Saxons, so it is only fitting he is the only ‘Great’ King of England.


ANSWER: Alfred
TOSSUP 22
MISCELLANEOUS-Current events

Her name is taken from a musical expression that means ‘with sweetness.’ In 1984, she an advisor to Gary Hart in foreign policy, but became a Republican. Who was provost at Stanford before becoming National Security Advisor and Secretary of State? 

ANSWER: Condoleezza Rice
BONUS 22
SCIENCE-Biology

Answer the following about the human leg:

1.
This is the larger of the two bones that connect the knee and ankle.

ANSWER:
tibia
2.
This is the smaller of the two bones that connect the knee and ankle.

ANSWER:
fibula
3.
Its four parts are the rectus femoris, vastus lateralis, vastus medialis, and vastus intermedius.

ANSWER:
quadriceps femoris

4.
From the Latin for tailor, it is the longest muscle in the body.

ANSWER:
sartorius
TOSSUP 23
SOCIAL STUDIES-US history

After Johnny Torrio retired, he became leader of the South Side gang, and was the rival of Bugs Moran. He was in Miami on February 14, 1929, and so had nothing to do with seven killings up in Chicago. Who was convicted of not paying taxes in 1928 and 1929?

ANSWER: Al Capone
BONUS 23
MATH-Geometry

THIS IS A COMPUTATION QUESTION.  You will be given clues about a trig graph and you have to come up with an equation for that graph.  An example of your answer might be Y = 6 cos X (read as: y equals 6 times the cosine of x).  Now:

1.  
This trig equation has a graph that goes through the origin, is continuous, has an amplitude of 1 and has a period of 360 degrees.


ANSWER:  Y = sin X (y equals the sine of x)

2.  
This trig equation has a graph with an amplitude of 3, a period of 180 degrees, and goes through the origin.


ANSWER:  Y = 3 Sin 2X (y equals 3 times the sine of 2x.)

3.  
This trig equation has a graph that has many asymptotes, contains the origin, and has a period of 60 degrees.


ANSWER:  Y = Tan 3X (y equals the tangent of 3x.)

4.  
Giving your answer with degrees, this trig equation has a graph with amplitude of 5, a phase shift of 45 degrees to the right, does not contain the origin, has a period of 360 degrees, and was an even function prior to the phase shift.


ANSWER:  Y = 5 Cos (X – 45) 

TOSSUP 24
LANGUAGE ARTS-Vocabulary

This nine-letter word was first used by James Boswell in its modern sense. What word, whose origin comes from the Greek for ‘life writing,’ is an account of someone’s life? 

ANSWER: biography
BONUS 24
FINE ARTS-Musicals

Identify the Gilbert and Sullivan operas.

1.
This opera begins with twenty-four Venetian maidens declaring their love for a pair of the title characters.


ANSWER: The Gondoliers
2.
Set in the Tower of London, this opera ends with the main character becoming a shell of a man and two women becoming reluctantly engaged. Not terribly funny, this. 


ANSWER: The Yeomen of the Guard
3.
This opera starts with the title ship at a Portsmouth dock, and ends with Ralph Rackstraw commanding the ship. 


ANSWER: H.M.S. Pinafore
4.
One character in this opera is Pooh-Bah, the Lord High Everything Else.


ANSWER: The Mikado

TOSSUP 25
SCIENCE-Chemistry

Developed in 1908 by Ernest Rutherford and its namesake, it was improved in 1928 by Walther Muller.  It uses a gas-filled tube and outputs with a needle or with clicks.  Name this instrument used to detect amounts of radiation.

ANSWER:
Geiger counter

BONUS 25
LITERATURE-US literature

Identify these lazy characters.

1.
He gets away from his nagging wife by going bowling with some dwarves and sleeping for twenty years. 

ANSWER: Rip van Winkle
2.
When asked to do work, this Melville character replies, ‘I would prefer not to.’

ANSWER: Bartleby the Scrivener

3.
He prefers a good drink and a beating of his only son, Tom Canty, in The Prince and the Pauper.

ANSWER: John Canty 

4.
This family is the focus of Erskine Caldwell’s Tobacco Road.
ANSWER: the Lester family

HALFTIME

Third period: 15 toss-ups
TOSSUP 26
MATH-Geometry

THIS IS A COMPUTATION QUESTION.  Find the sine of the inverse cosine of 2/3.


ANSWER:  sq. root of 5 over 3
TOSSUP 27
SCIENCE-Biology

Severo Ochoa won a Nobel Prize for discovering how it is synthesized.  Types of it include ribosomal, transfer, and messenger.  Its bases are adenine, cytosine, guanine, and uracil.  Name this single-stranded nucleic acid that is transcribed from DNA.

ANSWER:
RNA or ribonucleic acid
TOSSUP 28
FINE ARTS-Painting

She turned to painting in 1925 as she lay in a full body case, recovering from a bus crash. The Casa Azul that is today her museum is where she grew up in a suburb of Mexico City. What painter was noted for her marriage to Diego Rivera and for her eyebrows?

ANSWER: Frida Kahlo
TOSSUP 29
SOCIAL STUDIES-Geography

This state’s Cape York Peninsula borders the Gulf of Carpentaria, the Torres Strait, and the Pacific Ocean. Other cities in this state include Toowoomba and Gold Coast. Located to the north of New South Wales, what state’s capital is Brisbane?  

ANSWER: Queensland
TOSSUP 30
SCIENCE-Astronomy

Named after a University of Iowa professor, they may help protect the earth from solar wind.  The outer one is 3 to 10 Earth radii above Earth, while the inner one is only 700 to 10,000 km above Earth.  Name these belts of charged particles around the Earth.

ANSWER:
Van Allen belts
TOSSUP 31
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  Ryan gets a salary and he also gets 5% commission on all his sales.  One week he had sales of $12,000 and his pay for both salary and commission was $1000.  What is his weekly salary?


ANSWER:  $400
TOSSUP 32
LITERATURE-World literature

He has 1,097 lines, only Falstaff has more lines among Shakespeare’s characters. His motive may have been ‘seeing a black ram tupping a white ewe’ or his belief his wife Emilia was unfaithful with Cassio. Who is this treacherous lieutenant of Othello? 

ANSWER: Iago
TOSSUP 33
MATH-Computer science

This program was developed in 1987 for the Macintosh by Forethought and was called Presenter. It was released for Windows in 1990. Later versions included the ability to animate individual shapes. What is the Microsoft Office program for presentations? 

ANSWER: Microsoft PowerPoint
TOSSUP 34
LITERATURE-US literature

The latter part of this novel is set at Samson Raphael Hirsche Seminary and College. One protagonist will study psychology at Columbia, and the other will study to be a Rabbi. Reuven Malter and Danny Saunders grow up in Brooklyn in what novel by Chaim Potok? 

ANSWER: The Chosen
TOSSUP 35
SOCIAL STUDIES-World history

He won four Hero of the Soviet Union medals, winning all after age seventy. He signed the SALT I treaty, but praised Stalin in a 1965 speech and ordered the 1968 invasion of Czechoslovakia. Between 1964 and 1982, who was the ruler of the Soviet Union?

ANSWER: Leonid Brezhnev
TOSSUP 36
MISCELLANEOUS-Classic pop culture

Its model was Emilio Fernandez. It is made from gold-plated brittannium, is 13 ½” tall, and weighs 8½ pounds. It is a standing knight, holding a sword. What item is given in an annual ceremony in late February for excellence in the film industry? 

ANSWER: the Academy Award of Merit or Oscar(s)

TOSSUP 37
LITERATURE-World literature

In Treatise on the Demonstration of Problems of Algebra, he showed how to solve cubic equations. His poetry was translated by Edward Fitzgerald; in the West, he is best known for his quatrains. The Rubaiyat is the most famous work of what medieval Persian poet? 

ANSWER: Omar Khayyam
TOSSUP 38
LANGUAGE ARTS-Vocabulary

This six-letter word’s origin is Latin words meaning ‘from’ and ‘wipe away.’ In genetics, it refers to a mutation where a sequence is removed from daughter cells. What word describes the act of removing something, especially from a written work? 

ANSWER: delete
TOSSUP 39
SOCIAL STUDIES-US history

In 2006, it suffered a rare setback when it pulled out of the German retail market. In 1995, it opened a store in Vermont, its 50th state. It started as a Ben Franklin retail franchisee in Benton, Arkansas. What is this store, now the world’s largest employer? 

ANSWER: Wal-Mart
TOSSUP 40
SCIENCE-Physics

First predicted by Wolfgang Pauli, named by Enrico Fermi, and first detected in 1956, they come in tau, muon, and electron types.  The Super-Kamiokande in Japan was built to detect them.  Name this chargeless and nearly massless subatomic particle.

ANSWER:
neutrino
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
LITERATURE-Mythology

The mead-making goat Heidrun eats from its leaves. Snorri Sturleson placed one of its roots up in Asgard among the gods. The squirrel Ratatosk runs up and down what ‘world tree’ of Norse mythology? 

ANSWER: Yggdrasil (prompt on ‘world tree’)

BONUS 41
MATH-Algebra

THIS IS A COMPUTATION QUESTION.  Consider the polynomial X3 – 4X2 – 7X + 10.  Now:

1.  
What is the degree of this polynomial?


ANSWER:  third
2.  
If we divide this polynomial by (X – 1) what is the remainder?  Use synthetic division if you wish.


ANSWER:  0
3.  
This remainder indicates that X – 1 is a factor of the polynomial.  What are the other two factors?  


ANSWER:  (X + 2) and (X – 5)
4.  
Find the three factors of the following polynomial using synthetic division:  X3 + 3X2 – X – 3.  (Hint: consider only factors of 3 as your divisor if you use synthetic division)


ANSWER:  (x – 1) (x + 1) (x + 3)
TOSSUP 42
SOCIAL STUDIES-US history

In 1769, he was assassinated by a member of the Peoria; he had fled to the Illinois Country after failing to capture Fort Detroit. What Native American chief led a rebellion against the British after the French and Indian War? 

ANSWER: Chief Pontiac
BONUS 42
LITERATURE-World literature

Identify the works from quotations.

1.
‘Control of the whole of Africa – bring the war within measurable distance of its end victory – greatest victory in human history – victory, victory, victory!’ 


ANSWER: 1984
2.
‘It blazed at you, luminous and terrifying, like a flash of lightning in a serene sky: 'Exterminate all the brutes!'’ 


ANSWER: Heart of Darkness
3.
‘IT is a truth universally acknowledged, that a single man in possession of a good fortune must be in want of a wife.’ 


ANSWER: Pride and Prejudice
4.
‘Sorrow, I baptize thee in the name of the Father, and the Son, and the Holy Ghost.’


ANSWER: Tess of the d’Urbevilles
TOSSUP 43
SOCIAL STUDIES-Geography

It is the home to Naval Air Station Oceana and is the southern terminus of the Chesapeake Bay Bridge and Tunnel. It borders the cities of Chesapeake and Norfolk.   

What ocean-side town is the largest city in the state of Virginia? 

ANSWER: Virginia Beach, Virginia

BONUS 43
SCIENCE-Chemistry

Answer these questions about radioactive decay:

1. 
Decay processes are examples of what type of reaction whose rate is a function of the amount of a single substance?

ANSWER:
first-order reaction [accept linear]

2.
Pencil and paper ready. If you have 80 grams of a radioactive substance at 12 noon, and 10 grams at midnight, what is the half-life of the sample?

ANSWER:
4 hours or 240 minutes
3.
What type of particle with non-zero mass is released when sodium-22 decays to neon-22?

ANSWER:
positron or antielectron or beta-plus particle [prompt on "beta"]

4.
Isotope 209 of which element, once thought to be stable, was shown to be extremely slowly radioactive?

ANSWER:
bismuth
[The half-life of bismuth is a billion times the current estimates of the age of the Universe.]

TOSSUP 44
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  The simple interest on a loan was $840.  The time of the loan was 6 years and the amount of the loan was $2000.  What was the interest rate?


ANSWER:  7%
BONUS 44
MISCELLANEOUS-Classic pop culture

Identify these teen idols through the years.

1.
The invention of the microphone helped this leader of the Connecticut Yankees achieve superstardom in the 1920s.  

ANSWER: Rudy Vallée 

2.
Quiero Ser was a mega-hit from what band, composed of a never-ending supply of under-16 Puerto Rican boys. 

ANSWER: Menudo
3.
This entire family was full of teen idols – first generation Ozzie, second generation Ricky, and third generation Matthew and Gunnar. 

ANSWER: Nelson
4.
Bobby Brown got his start in what group whose songs include ‘Cool It Now’ and Mr. Telephone Man’? 

ANSWER: New Edition

TOSSUP 45
MATH-Algebra

THIS IS A COMPUTATION QUESTION.  If an odd function contains the point (3, 8) then what other point must it also contain?


ANSWER:  (-3, -8)
BONUS 45
SCIENCE-Physics

Pencil and paper ready. You have an electric circuit with an 120 volt source of e-m-f, and two resistors, one of 20 ohms and one of 40 ohms.

1.
If you connect two resistors of 20 ohms and 40 ohms in series, what will be the current, in amperes, through the 40-ohm resistor?

ANSWER:
2 amperes

2.
What is the current through the 20-ohm resistor? 

ANSWER:
2 amperes

3.
What is the power, in watts, dissipated by the 20-ohm resistor?

ANSWER:
80 watts

4.
If you connect those same resistors in parallel, what will be the current, in amperes, through the 40-ohm resistor?

ANSWER:
9 amperes

TOSSUP 46
LITERATURE-US literature

His unpublished works are The Passing and The Royal Murders. Richard Gere and Diane Lane will appear in the film adaptation of Nights in Rodanthe. Who is this author of A Walk to Remember, Message in a Bottle, and The Notebook? 

ANSWER: Nicholas Sparks
BONUS 46
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  Consider the three numbers:  A equals 420; B equals 84; C equals 385.  Now:

1.  
Find the prime factorization of 84.


ANSWER:  2x2x3x7  or  22x3x7
2.  
Find the greatest common factor of A and B.


ANSWER:  84
3.  
What small prime number is the greatest common factor of all three numbers?


ANSWER:  7
4.  
Find any 7 of the 8 factors of 385.  You may include 1 and 385.


ANSWER:  any 7 of:  1, 5, 7, 11, 35, 55, 77, And 385
TOSSUP 47
SCIENCE-Biology

The PSA test is used to detect cancer of it, which is the most common type of cancer in men.  It makes and stores seminal fluid and surrounds the urethra.  Name this exocrine gland of the male reproductive system.

ANSWER:
prostate
BONUS 47
LITERATURE-World literature

Name these works by Rudyard Kipling.

1.
In this poem, Kipling says that a son who can ‘keep your head when all about you / Are losing theirs and blaming it on you’ will ‘be a man!’ 

ANSWER: ‘If—’

2.
Harvey Cheyne, Jr., turns from the spoiled son of a railroad tycoon into a young man when he spends a summer on a Grand Banks fishing trawler. 

ANSWER: Captains Courageous

3.
This novel’s title character, the orphaned son of an Irish officer, delivers documents captured from Russians to British intelligence.

ANSWER: Kim

4.
‘Mowgli’s Brothers’ is the first short story in this collection. 

ANSWER: The Jungle Book

TOSSUP 48
SCIENCE-Environmental science

First observed in Manchester in 1852, it is a major problem in Eastern Europe and China.  It is primarily caused by human pollution involving nitrogen or sulfur.  Name this environmental menace that is chemically reacted water with a low pH.

ANSWER:
acid rain or acid precipitation
BONUS 48
SOCIAL STUDIES-US history

Name these Supreme Court decisions.

1.
This case led to the doctrine of ‘separate but equal.’


ANSWER: Plessy v. Ferguson

2.
This case, the high-water mark of the Grange’s influence, allowed states to regulate railroads within their own borders.



ANSWER: Munn v. Illinois

3.
In this 1905 case, the Supreme Court held that limiting bakers to fewer than 60 hours a week was an abridgement of their right to contract.


ANSWER: Lochner v New York
4.
This case led to the doctrines of ‘clear and present danger’ and ‘shouting fire in a crowded theater.’


ANSWER: Schenck v. United States
TOSSUP 49
MISCELLANEOUS-Popular culture

This country holds a contest called Melodifestivalen to determine its entry in the Eurovision Song Contest. What country, the home of guitarist Yngwie Malmsteen, is the home to the bands Europe, Roxette, Ace of Base, and ABBA?

ANSWER: Sweden
BONUS 49
LANGUAGE ARTS-Vocabulary

Identify these words of Scandinavian origin. 

1.
It is a type of gasoline-filled bottle used as a makeshift bomb, and was invented during the Finnish Winter War against Russia.


ANSWER: Molotov cocktail or Molotovin koktaili
2.
What Norwegian word describes a giant octopus or squid that attacked ships?


ANSWER: kraken
3.
What Swedish word describes a government official whose job is to investigate complaints brought by private citizens?


ANSWER: ombudsman
4.
This word comes to us from Old Norse words meaning ‘bear shirt’ and describes someone that has gone insane. 


ANSWER: berserk
TOSSUP 50
FINE ARTS-Architecture

Built by Philip Augustus around 1200, it was opened to the public in August 1793. It added an I.M. Pei-designed pyramid in 1989. The Winged Victory of Samothrace, the Venus de Milo and the Mona Lisa are all in what museum in Paris?  

ANSWER: Louvre Museum

BONUS 50
SOCIAL STUDIES-World history

Answer these questions about the Arab-Israeli wars. 

1.
Israel attempted to invade what country in 1982 and 2006?


ANSWER: Lebanon

2.
Who was the ruler of Egypt in both the 1956 and 1967 wars?


ANSWER: Gamal Abdel Nasser
3.
In 1976, Israeli commandos were able to free hostages on Air France Flight 139 in a daring raid at the airport in what Ugandan city?


ANSWER: Entebbe

4.
What defensive line was constructed along the Suez Canal, but was breached at the beginning of the Yom Kippur War?


ANSWER: Bar-Lev Line

END OF MATCH

Spare questions
TOSSUP 51
LITERATURE-World literature

His wife, Mary Morstan, died before the time of ‘The Adventure of the Empty House.’ He was wounded while serving as a doctor in Afghanistan. What resident of 221B Baker Street was the roommate and companion of Sherlock Holmes?  

ANSWER: (Dr) John H. Watson, M.D.

BONUS 51
SOCIAL STUDIES-Geography

Answer these questions about South America geography.

1.
What is the most populous city in Brazil?


ANSWER: São Paulo
2.
What is the only English-speaking country in South America?


ANSWER: Guyana
3.
The city of Callao is the port that serves what city?


ANSWER: Lima
4.
What tropical lowland region was the cause of a war between Bolivia and Paraguay in the 1930s?


ANSWER: Chaco
TOSSUP 52
SCIENCE-Chemistry

It is used in some lasers and fire extinguishers.  It makes up 383 parts per million in the atmosphere.  Its liquid form is known as R744 and its solid form is known as dry ice.  Name this greenhouse gas whose chemical formula is CO2.

ANSWER:
carbon dioxide
BONUS 52
LANGUAGE ARTS-Grammar

Answer these questions about adjectives.

A.
While adjectives modify nouns, what part of speech modifies adjectives themselves?


ANSWER: adverb(s)

B.
What two words are used to form the positive comparative and superlative forms of adjectives if the suffixes –er and –est are not used?


ANSWER: more and most
C.
A predicate adjective often uses what kind of verb, also called a linking verb?


ANSWER: copula
D.
While some grammarians call articles, numbers, and demonstratives adjectives, other grammarians give them what name?


ANSWER: determiner(s)

TOSSUP 53
MISCELLANEOUS-Pop culture

Until 2002, it was a data storage site owned by YourZ, when eUniverse repurposed it. A Dutchman created its 100 millionth account in August 2006. Tom Anderson is a friend to everyone on what social networking website?

ANSWER: myspace.com

BONUS 53
FINE ARTS-Sculpture

Answer these questions about sculpture. 

1.
What is the name of the base or pedestal on which a bust or statue sits, or is the base on which a kitchen cabinet sits?


ANSWER: plinth(s)

2.
Alexander Calder was a master of what type of sculpture that consists of rods, objects, and strings? 


ANSWER: mobile(s)

3.
Madame Tussaud was a master of sculpture in what medium?


ANSWER: wax
4.
What material was used to make an army to accompany ‘First Emperor’ Qin Shi Huang in the afterlife?


ANSWER: terra cotta
TOSSUP 54
LANGUAGE ARTS-Grammar

Consider the sentence, ‘I know the answer.’ What is that sentence in the conditional tense?


ANSWER: I would know the answer
BONUS 54
MISCELLANEOUS-Current events

Given a member of the Senate, name the state he or she represents.

1.
Orrin Hatch.


ANSWER: Utah
2.
Kay Bailey Hutchinson.
ANSWER: Texas
3.
Robert Byrd.


ANSWER: West Virginia
4.
Richard Durbin.

ANSWER: Illinois
TOSSUP 55
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  What is 5 ¾ divided by 5 1/9 ?


ANSWER:  9/8  or  1 1/8
BONUS 55
LITERATURE-US literature

Answer these questions about works on the New York Times best-seller list.

1.
Who is the author of Where Are You Now?, an octogenarian whose first suspense novel was Where Are the Children? 


ANSWER: Mary Higgins Clark
2.
The non-fiction list contains Ladies of Liberty by what wife of Steven and reporter for ABC News?


ANSWER: Cokie Roberts
3.
The paperback Creation in Death is by J.D. Robb, the pseudonym of what romance writer?


ANSWER: Nora Roberts
4.
The hardcover advice book Just Who Will You Be? is by what First Lady of California?


ANSWER: Maria Shriver
TOSSUP 56
SOCIAL STUDIES-World history

They made the special mola salsa cakes and guarded the Palladium. Coelia Concordia was their last head; Theodosius ordered their College ended in 394 A.D. and put out the fire they guarded. Who were these six women sworn to chastity?

ANSWER: Vestal virgin(s)

BONUS 56
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION.  Consider the following five numbers which are in ascending order:  13/125, 32/125, 11/25, and 3/5.   Now:

1.  
Find the least common denominator.


ANSWER:  125
2.  
Find the median of this data.


ANSWER:  87/250
3.  
Find, in lowest terms, the sum of the four numbers.


ANSWER:  7/5 

4.  
Find, in lowest terms, the difference between the largest number in the set and the mean of the set.


ANSWER:  ¼ (the largest number is 3/5 and the mean is 7/20) 

TOSSUP 57
FINE ARTS-20th century music

He toured in 1935 with Bennie Moten. After Moten’s death, he formed his own big band, the Barons of Rhythm. He appeared in Blazing Saddles as himself. What jazz pianist is associated with the songs One O’Clock Jump and April in Paris? 

ANSWER: Count Basie
BONUS 57
SCIENCE-Meteorology

Answer the following about the atmosphere:

1.
At 78 percent, this gas is the most abundant in the atmosphere.

ANSWER:
nitrogen
2.
This layer of the atmosphere is closest to the ground and is where clouds form.

ANSWER:
troposphere
3.
The ozone layer is located in this second-lowest atmospheric layer.

ANSWER:
stratosphere
4.
Radio waves bounce off this portion of the atmosphere.

ANSWER:
ionosphere
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